
SAP ABAP table PC2C1 {Payroll result: Tax (SE)}

PC2C1

TADKD [CHAR (2)]

TABKD [NUMC (3)]

TAKKD [NUMC (1)]

TYPKD [CHAR (1)]

TYPEC [CHAR (1)]

TCURR [CUKY (5)]

TAETT [CHAR (2)]

ACURR [CUKY (5)]

ECURR [CUKY (5)]

T5S3A

MANDT [CLNT (3)]

TABKD [NUMC (3)]

 PC2C1-TABKD = T5S3A-TABKD 
0..N

0..N

T5S3B

MANDT [CLNT (3)]

TAKKD [NUMC (1)]

 PC2C1-TAKKD = T5S3B-TAKKD 
0..N

0..N

T5S3I

MANDT [CLNT (3)]

TAETT [CHAR (2)]
 PC2C1-TAETT = T5S3I-TAETT 0..N

0..N

T5S3J

MANDT [CLNT (3)]

TADKD [CHAR (2)] PC2C1-TADKD = T5S3J-TADKD 0..N

0..N
T5S3L

MANDT [CLNT (3)]

TYPEC [CHAR (1)]

 PC2C1-TYPEC = T5S3L-TYPEC 
0..N1

T5S3Q

MANDT [CLNT (3)]

TYPKD [CHAR (1)]

 PC2C1-TYPKD = T5S3Q-TYPKD 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 PC2C1-ACURR = TCURC-WAERS 

0..N

0..N

 PC2C1-ECURR = TCURC-WAERS 

0..N

0..N

 PC2C1-TCURR = TCURC-WAERS 

0..N

0..N


